EARAROBEEIERT — 2 N— IBISH —F

2016528280 (B) 2EFI2H

KR >%4%t 5005TF (Be

)

HEE] EE

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 337 :1,900,000F 43 :1,100,000 " ~ 5 & :750,000 9

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s FlBEX :55. —-11-12- . . FHIEE (EH)
: 3| @T2—FrE—n0- t> 6| S 1(5_5)1 12-11-12-10| 38.6 | 94.7 | 9 (4_766) e
LA RN—3ILHA—L BIfH O RIRHIS
= = . 4 4 | AHEES 1:56.3 13-14-13-13| 38.4 | 93.0 | 7 498 | EBFH— (i)
2/8[15| 7AMU—TF1X 56.0 1172 (o) |BRU=Z ()
L:hxexY BRS—bkvwHOC At B
=35 S S 4t 5 | C. Jbx—Jb 1:55.4 10-10-9-7 [ 39.1 | 92.4 | 1 460 | FZHERAB (ER)
35010/ 7Y ENT Ty a 57.0 (7E) -6) BRSO
L:TTRIXTFIEIN BRFHINZYNX J—¥LTr—L
5 s, 44 | HHEAR 1:55.6 9-9-9-7 [39.3| 90.8 | 11 | 474 |RHFEIL (k)
4/5|9 HhZX/T7F >3 A53.0 (1 1/2) (-q) | BARFI—
R:FFHRTFDd B:T42N—IL ESstae]
S s # 5 | F. NU-— 1:56.0 1-11-9-10 | 39.7 | 87.6 | 10 | 480 | KFEEE— (X#)
EE 4| ®T7YI/IERT Y 57.0 2 1/2) () | AR
R:Y=Z28—-3I=24— B:wigIOvr AXE)T7—L
= - i 4 | EHE 1:56.1 8-7-7-5 |40.1| 86.9 | 3 508 | BRAAIA (i)
6112 | XTT1—N=— 54.0 (7 ) o2) | ) F¥BEYETr—L
LNnN=Y774 B: %1471 —X)— J—H Ty —LA
— N £ 4 | HEBE 1:56.2 4-4-4-3 | 40.4| 86.3 | 8 490 | =/ BHF (FH)
717|147 A ¥R “ 7 86.0 (1/2) (og) | H H. 217 ENXE
:avrX BTLITI/T-N H—L—-JvIN> - Ty7—LERS
Qs o= # 5 | RLRKA 1:56. 16-16-15-14| 38.6 | 85.6 | 14 | 522 |mEA&EXHE (Ei#)
EHQ ®NAHRT 2 =7 [B] 0 (76 (g | BEST
& :Fusaichi Pegasus B:¥+>—X357 Dr. Masatake |ida
=i P — 7 o4 | - 1:56.5 3-2-2-2 | 40.9| 84.2 | 12 | 480 | WEEEK (%)
917113 729 77)—X [B] 56.0‘( (1 1/2) (+4) HAE#
RihrEXRY BAATAU-K IBE K
S 5 4 5 | HWH(E 1:57.5 1-1-1-1 | 42.1| 77.6 | 6 506 | iB/K3EE (i)
10/ 8/16| 7 71— 55.0 (6) (+18) E(75) V=L ]
Lv—NRFAYTF— B:T7r89— YO
\_ SEEEE . e SRR (X578
®IFUNFA o4 =0 1757tf MR R RS f_zf; B
L.n-xI>JUr B:I-E-%FF WE 77— L4
& pD e KEFHRIR : —~7-7- BEFE (5E)
FAHTSLF 4R 5 e 1(/75{:) 7-7-7-5 | 41.6| 76.3 | 13 <5+1‘3 zan
R:FFHRTFd BAAH ML HT— HBITr—L
NS T s s 4 | MELHE 1:58.9 4-4-4-3 | 43.2| 68.8 | 5 42 | BRREE ()
ININT X R 54.0 ®) (t2) | B) U7 Fids
RZAZXHT R B:TUERAL T2 RE
== S #H o4 | AER— 1:59.5 13-14-16-15| 41.5 | 61.7 | 16 | 462 |EHBRA (k)
IS5 TA5— 56.0 3 1/2) 2 | 779>
LT RIAYE—F BARE—U—X EE E=
. o4 | RBIES 2:01.1 2-2-2-10 | 45.5| 57.6 | 4 452 | EBFME— (EH)
Tvs¥vT72X g 56.0 10) (cay | U HAL—-ZFK—2
R:F2728 B:U—F3AN—/IN— "HET7—L
_ M. FL—0O . -13-14- DNEEAESA (3E7#)
25y F o4 M7 (27.9%3) 13-13-14-16| 51.2 | 28.3 | 2 (iﬁ) net
L:ZFA4AT—IK B:4X5aY-> () HAa-KL—Ya>AET7
@ 71 L
) 52.6-39.7
NA>ZA L | 12.7-11.8-12.6-13.0-12.4-12.9-13.2-13.4-13..1
® I —F—@EBIERL
13=3r= (x16,7)13(1,5,14)6,2-9,10,4,3(15,11,8)-12
2= = 16(7,13) (1,5,14) (2,6)-9,10(3,4)8(15,11)-12
Gol=5r= 16(7,13) (1,5,14) (2,6) (9,10,4) 3-15-8,12-11
43—75— | 16,13(1,14) (2,6) (9,5,10) (7,3,4)15,12=11=8
[ N3
BB 3 2,790 714K 3-15 3,070 e E 2-8 4,140H JEHE 3-10-15 8,760
8 B 3 420M 3-10 690M B = 3-15 12,650M B 3-15-10 91,690
15 420M 10-15 860 B H 3-15 29,7804
10 1304

ABICOVWTRDTEEERROODE. TR LIV,




